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SARDAR PATEL UNIVERSITY
B.COM. (V SEM - 2010 BATCH) EXAMINAT ION

SATURDAY, 24TH SEPT., 2022
3-30 PM TO 5-30 PM

BUSINESS FINANCE: UBOSCCOMO6/15
Total Marks: 6

NOTES:
¢ ATTEMPT ANY FOUR QUESTIONS
e ALL QUESTIONS CARRY EQUAL MARKS
Q-1 What is Cost of capital? State its importance.
Q-2 Calculate the weighted average cost of capital from the following capital

structure: _
Source of finance Amount (Rs.) After Tax Costl% )
Debt Capital 30,00,000 4.0
Equity Share Capital 10,00,000 |85
Preference Share Capital 20,00,000 115
Retained Earnings 40,00,000 10.0

Q-3 Discuss the various sources of working capital.

Q-4 X&YLtdis desirous to purchase a business and has consulted you, and one
point on which you are asked advise them is the average amount of working
capital which will be required in the first year’s working.

You are given the following estimates and are instructed to add 10 per cen!
your computed figure to allow for contingencies.

Amount for the year (in |

(i) Average amount backed up for stocks:

Stocks of finished product 5,000
Stocks of stores and materials 8,000
(if) Average credit given: :
Inland sales, 6 weeks credit 3,12,000
‘ Export sales, 1.5 weeks credit 78,000
(iii) Average time lag in payment of wages and other outgoings:
Wages 1.5 weeks 2,60,000
Stocks and materials, 1.5 menths 48,000
Rent and royaltics, 6 months - 10,000
Clerical staff, 0.5 month 62,400
Manager, 0.5 month 4,800 -
Miscellaneous expenses, 1.3 months 48,000

seo 3y Do ont in advance:
0 vy



Q-5
(a)  Discuss the motives of holding cash,
(b)  Explain the tomponents of credit policy.

Q-6 A.B.C. Company Limited wishes to arrange overdraft facilities with its bankers
during the period April to June when it will be man ufacturing mostly for stock,
Prepare a cash hudget for the above period from the following data, indicating
the extent of the bank facility the company will require at the end of each month,

February 1,80,000 1,24,800
March 1,92,000 1,44,000
April 1,08,000 2,43,0060
May 1,74,000 2,46,000
June 1,26,0600 2,68,000

Additional information:
1. All sales are credit sales. 50% of credit sales are reali

zed in the month following
the sales and the remaining 50% in the second month following,

2. Creditors are paid in the month following the month of purchases,
3. Cash at bank of April 1is (estimated) Rs, 25,000,

Q-7  Define leverage and explain its importance.
Q-8 A firm has sales of 1, 00,000 units a¢ Rs.

products is 60% of the tota) sales revenue. Fixed cost js Rs. 2, 00,000. The firm

10/ unit. Variable cost of the produced

has used a debt of Rs, 5, 00,000 at

20% interest. Calculate the operating leverage
and financial leverage,
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